ARBER-BEXR(FMIE2A7)

(Bt - F)
ERERUTHL BIHLE % AR ARSMEE ARLE EHRE HHE 352 BAEHRES
RERE ) 840,000 | 3%H
) wAA 870, 000
R s REGERLE SHTE2A5E |SHTE3A2E| HEHS |EHiw 860, 000 B () 840, 000 881,000 704, 000
) B 880, 000
D=2 TuTEE ) 870, 000
) EAM 2, 500, 000
() BT 2, 460, 000
RS () 2, 470, 000
S g EaemErs |DHIE2AI2E|SRIFIANA| EEHS |vU @) 2, 500, 000 #av< 2, 350, 000 2,524,000 2,019,000
#WEFyHR 2, 500, 000
v 2,350,000  3EHL
REEE ) 2, 510, 000
) EAM 5, 100, 000
() Rt 5, 120, 000
YY) 5, 100, 000
RS () 5, 050, 000
e srrmona|snrmasa| mame | ©190.000 ) av< 5,030, 000 5,033,000 4,026,000
) av< 5,030,000 | 4L
RERE ) 5, 130, 000
) wAA 5, 120, 000
Rl 5, 110, 000
() B 5, 135, 000
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(Bt - )
EELRUTHES BIALE ™ ARLHE AR SMEE AR EAEE EiE PR RSB i
() B 4,200, 000
() B R 4,070,000
V() 4,083, 000
R B) 4,081,000
i srrmona|snrmasa| mame | 100,000 TR 4,000,000 4,052, 000 3,241,000
W ave 4,200, 000
REREE) 4,080, 000
8 B 4,070,000
Rt 4,000,000 | %4l
) MR 4,083, 000
() B 2, 230, 000
() B R 2, 210, 000
V() 2,150,000 34
AR B) 2, 250, 000
W a%vo2 2, 250, 000
e s S$RIE2A128|$RTEIAE| BERS | v 2,250, 000 v ) 2,150, 000 2,242, 000 1,793, 000
RERERE) 2, 230, 000
B B 2, 220, 000
Rt 2, 209, 000
) N 2,218, 000
D=L T Y TEEE) 2, 209, 000
() TR 4,770, 000
() B R 4,760, 000
VT ) 4,759, 000
FAREE ) 4,700,000 | 4L
g simmAa|srrmimnE| mawe | o * 890,000 HEE ) 4,700, 000 4,773,000 3,818, 000
#av< 4,750, 000
LR ) 4,770,000
) TR 4,760, 000
Rl 4,759, 000
) TR 4,759, 000
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